BONNEVILLE LOCK AND DAM
ADULT FISH FACILITY IMPROVEMENTS

OBSERVATION BOXES

SUBMITTAL 01/28/13

W rigHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd.

Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691




L

L]

(E) PIPE SUPPORT —__]

501A

\ REF. DRAWING F2

71"\ MECHANICAL PLAN

\Ey Scale 1/2"=1'0"

A 01-28-13|ISSUED FOR APPROVAL
REVISION DATE DESCRIPTION
W RigHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

ITEM: PLAN |REF.M_001
PROJECT: JOB NO. XXX-13 | DRAWING NO. REV NO.
BONNEVILLE DAM F1 é
ADULT FISH FACILITY




NEW OBSERVATION BOX
DRAWING 201

—

MODIFY (E) GUARD
FOR NEW OBSERVATION BOX

DRAWING 101

AS REQ'D.

|

@

MODIFY (E) RAILING

/ FOR NEW OBSERVATION BOX

NEW OBSERVATION BOX
DRAWING 201

/ \
/ \
/ \
/ \
/ \
/ \
/ \
q 1

71"\ ENLARGED PLAN

\F2/ Scale 1/2'=1'0"

A [01-28-13[ISSUED FOR APPROVAL

REVISION DATE DESCRIPTION

W riGHT A

ANUFACTURING, LLC

PH. 503-774-9689 FAX 503-774-9691

7474 S.E. Johnson Creek Blvd. Portland, OR 97206

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-OO1
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.
BONNEVILLE DAM F2 @
ADULT FISH FACILITY




NEW OBSERVATION BOX
DRAWING 201

MODIFY (E) RAILING
FOR NEW OBSERVATION BOX

(¢ N

REUSE (E)
M T FISHSLIDE

gl

b

VRNV
AVAVIAVAVIAVAAVAV N
AVAYAYAVANAYAY 4V2

KAAR AAA
)= % X —X— %= % X—%— %
PAVAVAVAVAVAVAVAVA

MODIFY (E) GUARD
FOR NEW OBSERVATION BOX
PER DRAWING 101

NEW OBSERVATION BOX

| __— DRAWING 201

™\ n
\E4/
_

M

H
tr

71"\ ELEVATION

\E(y Scale 1" = 1' 0"

il
|

INSTALL OBSERVATION BOX
WITH (4) 1/2" @ SIMPSON
TITEN-HD X 0' 4" LONG

A [01-28-13[ISSUED FOR APPROVAL

REVISION DATE DESCRIPTION

W riGHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-OO1
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.
BONNEVILLE DAM F3 @
ADULT FISH FACILITY




Vi

REWORK (E) GUARD

PER DRAWING 101 \

NNNTNTNNT NN NN NTNTNTNT NN NN NI NN

NNNNNNNNNNN/N

REMOVE SECTION N

OF (E) BAR GRATE i

X
Dk

~
i
~

N
0,
-K
K
ST

>
2
|

kT
| >
sk
Kk
TS
*\‘/
| >k

A

f
L

TTSK
x>
<]

~
>K
>k
O

>
1

K
d'dl

yid

NN NN NN NN N NN NN NN NN NN

NN NN NN NN NN

(T
L
L
L
L
O
P
P
P
L
O
Il L 1
0
O
L
P
P
O
L
G 0w

m

71"\ ELEVATION

\Ey Scale 1"=1'0"

/N [01-29-13

GATE MODIFICATION

A [01-28-13

ISSUED FOR APPROVAL

REVISION DATE

DESCRIPTION

WRIGHT

A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

ITEM: GUARD |REF.M_001
PROJECT: JOB NO. XXX-13 | DRAWING NO. REV NO.
BONNEVILLE DAM F4 ii
ADULT FISH FACILITY




VARIES 7' 11-1/4" TO 8' 0-1/4"

CONTRACTOR VERIFY

/ 3/4" @ EPOXY ANCHOR

/ 3/4" BOLTS

SHIM AS REQ'D.
501B, 501C

5024 —

3/4" BOLTS

502A

%

71"\ PIPE SUPPORT

\F5/ Scale 1-1/2" = 1'0"

SECTION "A"

A 01-28-13|ISSUED FOR APPROVAL
REVISION DATE DESCRIPTION
W RigHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER:

SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: p|PE SUPPORT |REF'M-OO1
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.
BONNEVILLE DAM F5 é
ADULT FISH FACILITY




REPLACE MESH IN THIS AREA

I 1._2% . (AFTER GATE RELOCATION) \
\ 7 ] - 5 % n
AN
AVAVAVAVAVAVAVAVAVAVAY
OOOIHKRK] || PRERK IR KK KK KA IR KR IR KRR
'AVAVAVAVAVAVAVAVAVAVAY ]
( E ) JAMB T w NSINANANNINNNNINININININININANNINNN
'AVAVAVAVAVAVAVAVAVAVA ]
N \VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
i NNNNN NN NN NN NN NN NN NN NN
NNNNNNINNININININININININININININGN/
'AVAVAVAVAVAVAVAVAVAVA
3'-3" 3'-3" NINNINININISININININNININSINININININS
- \VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
AVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
VAVAVAVAVAVAVAVAVAVAVA
'AYAVAVAVAVAVAVAVAVAVAV B | N VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAV
VAVAVAVAVAVAVAVAVAVAVA RI N \VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
AYAVAVAVAVAVAVAVAVAVAV B | R VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
VAVAVAVAVAVAVAVAVAVAVA I I\ VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
'AVAVAVAVAVAVAVAVAVAVAY
YAVAVAVAVAVAVAVAVAVAVA
'AVAVAVAVAVAVAVAVAVAVAV
'YAVAVAVAVAVAVAVAVAVAY B | R VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAV -
- 1 \VAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVA
6'-2 IAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAVAY
AAAAAAN NNNNNINININININNININININININININININ.
YAYAYAVAVAY | OO
ARAYAVAVAVAYAVAN A
INKRRRRIN | | *%\/%\@Z:\/\%i
VAVAVAVAVAVAN AAAN JAVAVAVAVAVAVAVAVAVAVAVAVAVAVAV/ VAVAVAVAVAY,
UVIAVANAVAVAY, N O SVaVAVavavaraY | TAVAVAVAVAVAVAVAVAVAVA ] N VAVAVAVAVAVAVAVAVAVAVAVAVAVAY, AVAVAVAVAVA
v, i/(\f/\f/\f/\ﬁ % | | Q\L\Z\Z\/f\ < A DN | AN
DO AN YAV A AV A AV AN AV A AV A e
oz __ ADDED e ,
KA KAK X |
;>;/\*/\7\1§’\§§<7' ! MEMBER L
st I RELOCATE (E) GATE TO
AYAVAVAVAV
Gt | APPROXIMATE
s ‘ —_—
XKL OO | I LOCATION SHOWN
ALY | A
X LR | REMOVE THIS I
DXHKAAANAR N
CESEEERRN | SECTION I
A . U
GUARD MODIFICATION
SECTION "A" Scale 3/4" =1'0"
HOLES  [1/2" @ (U.O.N. WELDS E70XX
(E) HSS \ 1" FINISH: ( ) |
Q MATERIAL] A36 (U.O.N.), HSS=A500 GR. B
. _ 1 3/8 "
3 @ /A [01-29-13] GATE MODIFICATION
A,r" B A [01-28-13|ISSUED FOR APPROVAL
@1/ " REVISION| _ DATE DESCRIPTION

2 W riGHT A

3/16 " MANUFACTURING, LLC
1/4 PLATE 7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

nen DETAILER: SCOTT WHITE |CONTRACTOR: CLOUD
SECTION "B eV GUARD MODIFICATIONS [FEM-001
PROJECT: JOB NO. XXX-13 DRAWING NO. REV NO.

BONNEVILLE DAM 101 i}

ADULT FISH FACILITY




° ° © 0 0 0 00O OO OOO OO O[O OOOOOOOOOCOOOOOOOLOOOOOJoO
25%6%6%6%°%%6%6%6%%0°0%6%6%6%0%°0%0%0%07 0% P 0%0%6%6%0%0 %0 %6 %6%0%6%0°0%0%6%6%0%0 %0 °4°0°
oo o0 o ° © 0000000000000 000060000600060000600004do
© 0 00000000C0O0O0COCOCOCOGOCOOOO ©pPoOOOCOOOOOOOCOCOOCOOCOOOOLOO
© 000000000O0CO0OCOOCOOCOOO0OC|00/00C0O0O0COOCOOCOCOOCOCOOCOO0OOTGdo
© 000000000 O0O0O0O0O0OOOCOLOO © 00000000000 OOOCOOCODO0O
oo o0 © 06000000000 O0O0O©COOC[OO[0O0O0COOOCOOCOOOCOOCOOO0O0LO0OIO
© 0 00000000C0O0O0COCOCOCOGOCOOOO ©bo00000000000OCOOCOOCOO'oO
o o o oeocooeococococ&oekocoeococooeocoeocoeqc
© 0 0000000O0O0OOOOOOOCOLOO © b 000000000000 O0CO0OCOOCO0O0IO
° o ©020%6%6%0°%6%6%0%6%0°%6%0%6°0%4%6°h%0%6%0%6°0%0°6%0°6%6%0°6%0°6%0 %060 %0 %o°
© 0 00000000C00O0OCOCOCOOCOOO o b o © 00000000000 0000l0o
© 0600000000 O0O0OOOCOOOOOO0|0OO0O0O0O0O0O0O0OOO0O0O0OO0O0O0O0O0LO0O
-ﬁoooooooooooooooooooo&—o—%o © 0000000000000 OCO0 0'cpl
Hi¥ © 0 0 oo 00000000000000O0CO © 00 0000O0O0OO0OOCOOOLO O O 0
oo o0 ° oo °o o000 © 06000 0l000000000000000000000do
© 0 00000000C0O0O0COCOCOCOGOCOOOO © 0000000000CO0COCOOGCDOOCOO000
026%6%6%6%6%0%6%6%6%6%0%0°%0%0%6 %60 0 0 0 T0 e 0%0°0 %0 %6 %6 %6 60 %0 %0 %6 %620 00 %0 %0 %0 °d°0
© 000000000 O0O0O0O0O0OOOCOLOO ©poOOOOOOOOOOOOOOOCOOODO0 O
© 0600000000000 © 06000 0[0o0f000060000060000000OCO0O0MoO0
© 0 00000000C0O0O0COCOCOCOGOCOOOO ©opoooo © 00000000000 00O
0%6%0%6°0%6%0%0%0%0%0%0%6%0°6%0°0°0°0°0%0]0 0[0%6°0%6°0°0°0%0%0%6°6%0 00 00000 ¢ o
© 0 0000000O0O0OOOOOOOCOLOO ©oboooo © 0000000000, 0
©°0 0. 600060 06060 060006000600 0looloooooocooooooooooooodo
© 0 00000000C00O0OCOCOCOOCOOO ©obooooo © 000000000 0o
©o 0000 © 00000 ©o 0000 © 0]/0 0/0 000000000000 00O0O0OCOOO
© 0 0000000O0OOOOOOOOCOLOO ° 0°6%6%6%0%%0°0°6%6%0%6°0°°6%6%6%0 %0
0000 °o oo ° °o oo ©]0 0/0 0000000000000 O0CDO0O0O0OGO

303B,C,D

401A
. / 401A
4'_2 /16" /

301A

2'_4" 2'_4"

)

301A

A

01-28-13

ISSUED FOR APPROVAL

DESCRIPTION

TWO OBSERVATION BOXES T

Scale 1-1/2"=1'0" Ao
MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206

PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-OO1

PROJECT: JOB NO. XXX-13 [DRAWING NO. REV NO.

BONNEVILLE DAM 201 C

ADULT FISH FACILITY




ARV

3-117/4"
™ ]
(Il ® ® ®
°
(D
®
® ® ® ®
=] el
303A
(]
G * *
ror | |
he
L L]
302A
SECTION "A"

TWO STANDS 301A

Scale 1-1/2"=1'0"

303 E,F,G —

.
|
|
|
|
|
|
|__‘| [ ]
304A
HOLES ~ 113/16" & (U.O.N.) [WELDS E70XX
FINISH: BARE
MATERIAL| ALUM'NUM
A [01-28-13][ISSUED FOR APPROVAL
REVISION DATE DESCRIPTION
W RiGHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOX STANDS |REF'M-002

PROJECT:

JOB NO. XXX-13 [DRAWING NO. REV NO.

BONNEVILLE DAM 301 C

ADULT FISH FACILITY




874"

. i
36l P / a b_/ 87/4"
Vs TN |
= el
e/
RN
4 U‘;1/ %" C\
T d . i
i ya v
e N |
6"

TWO STANDS 302A

Scale 1-1/2"=1'0"

BILL OF MATERIAL

Mark | Qty. Description Feet Inches| Remarks
302A
S| a 4 L2x2x1/4 3 |11-7/8
%’ b 4 L2x2x1/4 1 5-3/4
S| ¢ 4 L2x2x1/4 1 | 6-1/4
3 d 4 L2x2x1/4 1 1-1/4 5/8" hole
< e 8 PL 1/2 x 2-3/4 0 | 2-3/4 5/8" hole
302B| 8 1/2" TITEN-HD 0 4
YP. 36 ;
/8" 5 "
J ’, \/ Q/S
" " _ 1 "
2y % o Va

HOLES

WELDS

FINISH:

BARE

MATERIAL| ALUM'NU M

A [01-28-13

ISSUED FOR APPROVAL

REVISION

DATE

DESCRIPTION

WRIGHT

A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689

FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOX STANDS

|REF. M'002

PROJECT:

JOBNO. XXX-13__|D
BONNEVILLE DAM

ADULT FISH FACILITY

RAWING NO.

302

REV NO.

0N




BILL OF MATERIAL
— 33/16" Mark | Qty. Description Feet Inches| Remarks
1'_2" 1'_2" 1'_2" % 303A
1/.._I > a 4 L2x2x1/4 4 | 0-3/8
4 1 | S b | 2 L2x2x 1/4 1 |51
i i o ® » o) ® ‘ 3 c 2 3/16" plate 1 5 formed
‘ J < d 16 isolator Mcmaster-Carr # 8638T21
} 3/4." 83/4-"
|
| j K f@ B \ 303B] 4 5/8"QFHMB | 0 | 1-1/2| stainless
15" i @ DR”—3|—/ 8& gTFSE _/j:’ 1'-51/2" 303C| 4 5/8-11 nylock nut stainless
| o 13/8" T© ‘ 303D, 8 5/8" flat washer stainless
| . 303E| 4 3/8" @ FHMB 0 | 1-1/2 | stainless
| / a b —/ 8% 303F| 4 3/8-16 nylock nut stainless
e 4 5 5 5 ‘ 303G| 4 3/8" flat washer stainless
1/4|| | | |
typ.
TWO FRAMES 303A
Scale 1-1/2" =1'Q"
3-1174"
_’ 1"
r1
L}”@ i - - e DRILL & CTSK. 5/8 @ F.H.
B \/ drill 7/16" @ verify
3/ L ; H HOLE WELD
SECTION "A" 1% / with isolator Fﬁusi — s
MATERIAL: ALUM'NUM
o 7
i = A |01-28-13[ISSUED FOR APPROVAL
3/4 : REVISION DATE DESCRIPTION
W RriHT A
3-sides typ. MANUFACTURING, LLC
C 7474 S.E. Johnson Creek Blvd. Portland, OR 97206

DETAIL "B"

PH. 503-774-9689

FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOX STANDS

|REF. M'002

PROJECT:

JOBNO. XXX-13__|D
BONNEVILLE DAM

ADULT FISH FACILITY

RAWING NO.

303

REV NO.

0N




STANDOFF
MCMASTER-CARR # 60985K68
303 S.S.

S.S. 3/4" @ WING NUT

3/4" @ S.S. THREADED ROD X 0' 9-1/2"

Ay )HHHHE

TWO REQ'D. 304A
Scale 6"=1'0"

A

01-28-13

ISSUED FOR APPROVAL

REVISION

DATE

DESCRIPTION

WRIGHT

A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

TEM: ADJUSTER [REF-M-002
PROJECT: JOB NO. XXX-13 DRAWING NO. REV NO.

BONNEVILLE DAM 304 C

ADULT FISH FACILITY




407A
(REMOVABLE)

TWO OBSERVATION BOXES 401A

Scale 1"=1'0"

OPTIONAL SLIDE DOOR 0 ¢
4048

406A

403D 404A

/ 403D

4078 —___|
407A
(REMOVABLE) 406E
406C =
Ay \ 406D 405B
BULKHEAD FITTINGS
BY CONTRACTOR
SECTION
A 01-28-13|ISSUED FOR APPROVAL
RE\/ISIONW DATE DESCRIPTION
RIGHT A
SEE DRAWING 402 FOR

INFORMATION NOT SHOWN

ANUFACTURING, LLC

7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-002

PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.
BONNEVILLE DAM 401 @
ADULT FISH FACILITY




4078 \

407A

(REMOVABLE) ~——~—__ ||

{A)—

1 — %

41"

a0y

— 403A

O 00O OO OO OO OGO OGO OO OO © 0 o o oo olo olo o o o oo 0o o0o0o000o00o0 o0 do
O 0 0O0O O OO OO OGO OGOOTUOO OO O 00O OO OO O OIJfOOOOOOOOOTOOOOOTOO O[O O
O 00O 0OOOOOOGO OGOU OO O o o0 o0 o0 o 0O 00 000 0O O O OO OO OO OO OUOTUOTOO O O
O 0 00O 0O O OO OGO OOGO OO O © 000000 0b ol oooo0o0o0000000000 olo o
0O 000 OO OO OO OGO OO O o oo o o o o ol/o of/] o o 0o o o oo o o0 0o 0o o o 0o o o o o
©o 0 000000 O OO O O © 00 00O0OCOOS® DOPODOOOODOOOOODOOOOOOO|0O 1 "
© 0 0 o000 OO O OGO OGO OO OGOTU OGO O O o 0/]o 00 0 0 0O 0O O OO O OO OO OOGOTOO O O 7
© 0 00 0OOO OO OGOOOOOOOOOOOOTOGOObOol ooooooo0o0o0000o0000o0o0loo 4
© 0 0 0O OO OO OO OO OO0 O OO0 O0 OO0 OO0 O[0C OO OCOOOOOOOO0O0O0O0 000 0 00
O 0 0O0O OO OOOO OOTO OGO OO OO OGO OTOTOTOO OO O © o000 00O O0O0O0O0O0OO0O0O0O0O 00
O 0 0O OO OO OO OO OGO OTUO OGO OOGOOUOOOOTOTO oo oo oo oo0oo0o0o00o0U 00O0O0OTO0O0
O 0O OO OO OOO OO OO OTG OGO OOTOOTO OO OO OOTOTOG DOIOOOOOOOOOOO O O o o oo o
O 00O OO OO OOOUO OGO OTU OGO OOTOTU OGO OO O o o&o ©j0 0 00 00 O0O0OO0DOOOOOO0O °L°°
HH[] © © 0 0 0o 0 0 0 0o 0o 0 0o 0o o 0o oo o0O0O0O0O ©—0 0 0 0 0 0 000 O0O0OOGO OOOO O ot 1 ' 41 "
|4 © o o o o o 0 0 0 o 0 0 0 0 0 0 0 0 O O O ©O p--0—P © 0 0 0 0 0 0000 OO0 OO0 0O L_':'_]r 4
O 00O OO OO OOOUO OGO OTU OGO OOTOTU OGO OO O o olo ol o o o o oo oo oo o oo oo o0 o0 oo
O 0 OO OO OOOO OGO OO OGO OGO OOTO OO OTO OO OOOTOTO OGS POI O OO OOOOOOOOOOOO O O]|0 O L 1 "
O 00O OO OO OOGOOUOTGOTO OO OTOTO OO O © 0 0j0 00 000 O0O0DO0OO0O0OOO0O o o 1
© 0 0 00O OO OO OO OU OGOTOGOTU OGO OO OGOO OO O ©o 0 0o Oo0 00O O OO OO OGO OGO OGO O.'0 O 4
©O 0 0 0OO OO O OO O OGO OGO OUOUOTU OGO OO OGO OGO OO OOl o oo o oo oo oo o0o0o0o0o0o0o0 o0 o0 oo
© 0 00 0O OOOOTO OOOOTO OOOO OO O OOOTO O OSGDPOINOT OOTOOROOTOOOOTOOOOTOLOO|O0O
© 0 0 OO OO O OO OGO OGO OO OTOTU OTOTO OTOTO OGO OGOOT OO OTOTOTUOTOT OGO OGO OTOO O O
© 0 00 0O0OOOOOOOOOO OO OO OO OO OTOTOOU b ol ooooooo0o0o0o0000000o0loo
O 00O OO OO OOGOOTOTU OGO OO OGO OO OTO OO OTO OO OTO OO OO OOTOTOTOOTO OO OOOTOTO OTOTOOTOTOO O O
O 0 0O0O OO OOOTO OOTO OGO OGO OO OGO OOTO OO O O p © 0000 O0O0OOOOOOOO0OO0O0
O 00O OO OO OOO OO OGO OTOTOTOTOTO OO o o o olo oo o oo oo oo o0 000000 o0 0o
O 00O OO OOO OGO OO OGO OGO OOTO OO O O 0O 00 O oo oooo0o0o0oo oo 0o o0 00 0 ©OJoo
0O 0 0 0O OO OO OO OO OO0 OO OO ORNO OO OO OO0 O0DODOOOOOOODOOOOLO0OOO9O

407B /

)

405A \ 403A

DIMENSIONAL DRAWING

Scale 1-1/2"=1'0"

4'_0"

404C

403D

403D

403B

»

|

|

|

|

|
406A "

|

|

|

|

4"

13l

406A
403C

2"

SECTION "A"

1 |_9"

406E

NOTES:

1) WELD ALL SEAMS SOLID
2) MOUNT UHMW GUIDES WITH
1/4" HEX BOLTS X 5/8" LONG

A

01-28-

13|ISSUED FOR APPROVAL

REVISION

DATE

DESCRIPTION

W riGHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

BONNEVILLE DAM
ADULT FISH FACILITY 402

'TEM: OBSERVATION BOXES |REF'M-002
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.

0N




4'_0"

1304

Per RFI 002

These holes will

3 1/4 G

4X
VERIFY WITH

BULKHEAD FITTINGS

TWO REQ'D. 403A

Scale1"=1'0"
(1/4" ALUMINUM )

be 4'_0"

327"

3

15,
12V5

1-4Y,"

! 4% 6" -

L%
::} 6%

—3Y

(9) SPACES @ 5"

1 |_9"

TWO REQ'D. 403C

Scale 1"=1'0"
(1/4" ALUMINUM )

L 1%1--

Al
~,
N
I—

, o
1-1" ZﬁT

— 3%
— 3%6
— %6

3u _

- 3%
s 3%

TWO REQ'D. 403B

Scale1"=1'0"
(1/4" ALUMINUM )

R 1'_3%" —
e il Y6 1

o
‘ Y42 J

iwiwiwiﬁ

TWO REQ'D. 403D

Scale 1"=1'0"
(1/4" ALUMINUM )

3 T
%
176" 7+

-

1-4Y,"

W/

-

WELD ALL SEAMS SOLID

FOLES 12" gy (U.O.N.)

| WELDS

FINISH: BARE

MATERIAL: 1 /4" ALUMINUM

A [01-28-13[ISSUED FOR APPROVAL

REVISION DATE DESCRIPTION

W riGHT A

MANUFACTURING, LLC

PH. 503-774-9689 FAX 503-774-9691

7474 S.E. Johnson Creek Blvd. Portland, OR 97206

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES

|REF. M'002

PROJECT: JOB NO. XXX-13 _|DRAWING NO.
BONNEVILLE DAM 403

ADULT FISH FACILITY

REV NO.

0N



Glen Nirk
Typewritten Text

Glen Nirk
Typewritten Text

Glen Nirk
Typewritten Text
Per RFI 002
These holes will be
3 1/4"

Glen Nirk
Typewritten Text

Glen Nirk
Typewritten Text


— 7Y —

T

TN

1-1%," - @2

FOUR REQ'D. 404A
Scale 1-1/2"=1'0"
(3/16" UV RESISTANT UHMW )

3-103/"

1-2" 104"

TWO REQ'D. 404C
Scale1"=1'0"

(3/16" UV RESISTANT UHMW )

A 37/8--
8l —

— 1.4V ———

SINNON

o2

(SHIP LOOSE)

TWO REQ'D. 404B

Scale 1-1/2" =1' 0"

(3/16" UV RESISTANT UHMW )

HOLES 2" Qg

| WELDS

FINISH: BARE

MATERIALI UV RESISTANT UHMW

A [01-28-13

ISSUED FOR APPROVAL

REVISION DATE

DESCRIPTION

WRIGHT

A

ANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-002
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.

BONNEVILLE DAM é
ADULT FISH FACILITY 404




1
<
~~
(90}
al
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
o 0o o 0o 0o 0 ©O
o o o o 0 o
o 0o o 0o 0o 0o ©O
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
0o 0o 0o 0o 0 0 ©O
_ 0o 0o 0o 0o 0 0 o
N 0o 0o 0o 0o 0 0 ©O
X o 0o o 0o 0o 0 ©O
- o o o o o o &
o o 0o o 0o 0o 0o ©O
- 0o 0o 0o 0o 0 0 ©O
- 0o 0o 0o 0o 0 0 o
™ 0O 0 0 0o 0 0 O
o 0o o 0o 0o 0 ©O
= I o 0o o 0o 0o 0 ©O
(o) = o o o o o o o
~— N 0o 0o 0o 0o 0 0 ©O
Te) -— 0o 0o 0o 0o 0 0 o
~— 0O 0 0 0 0 0 ©O
~ @ o 0o o 0o 0o 0 ©O
~ o 0o o 0o 0o 0 ©O
! (7p) 0 0 0 0 0 0 O
™ Ll 0o o o o 0o 0 o
O 0o 0o 0o 0o 0 0 o
< 0O 0 0 0 0 0 ©O
o 0o o 0o 0o 0 ©O
o o 0o o 0o 0o 0 ©O
(7))} 0 0 0 0 0 0 O
—_ 0o 0o 0o 0o 0 0 ©O
™ 0O o 0 o 0o o o
D o o o o o o o
~ o o o o o o o
o 0o o 0o 0o 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
o 0o o 0o 0o 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
o 0o o 0o 0o 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
o 0o o 0o 0o 0 ©O
o 0o o 0o 0o 0o ©O
o 0o o 0o 0o 0 ©O
0o 0o 0o 0o 0 0 o
0o 0o 0o 0o 0 0 ©O
0o 0o 0o 0o 0 0 o
o 0o o 0o 0o 0 ©O
= o 0o o 0o 0o 0o ©O
® o 0 0o 0o 0o 0 o
B |0 0o o o o o o
0o 0o 0o 0o 0 0 O
O o 0 0o o o
o o o o 0o 0o o
o 0o o 0o 0o 0o ©O
o 0o o 0o 0 0 o
r
gl
v ¢
s [T «@Zl©(E€l)

av,"

L 5/8"

CTSK. BOTH SIDES 1/16"
SMOOTH ALL EDGES

FOUR REQ'D. 405A

Scale 2-1/4" =1' Q0"
(1/4" UV RESISTANT UHMW )

76

Zii
[T__*
bk

2

1

e
4"
ﬁ_

3-113/"

TWO REQ'D. 405B

Scale 1-1/2"=1'0"
( UV RESISTANT UHMW )

MWA_
S
© [ [i4
- o >
< N w
(%] > .nw i}
5 o) o e |
B x o |a .
~ | o =] ]
o £39 lw
< Q&8 [
s e O53k| B
= Ol P
I | G.Q.%M&D
> al? Zz BE|X|
= w|a X x %[O [
Z =) S3<RmK =
< 1) ESuE N E
- N CC ENO. —
2 = 52 CEZ S
n ™ = MS%HT%AA
c WAJD
QEE ~ T Uho_u LL
- |x|X ol O ZSIEFl YW
z e = 2 .7OR —
<[> T3 o] <u 8w 2@
=z S s 3ol ST
3 > < O |0 W —
< I} N EE| O Z o
<2 Sagl g2 2
&2 < ]
2 EE = Lle @ <
O
Y
T
L
=
O
2




At
< |

RVZ—\@ 1\
1%L

TWO REQ'D. 406A

ot

Wz
11— T
2
L

4

TWO REQ'D. 406B

Scale 3"=1'0"
(UV RESISTANT UHMW )

TN

7-1/4" \/

2"

FOUR REQ'D. 406D

Scale NONE
(UV RESISTANT UHMW )

Scale 3"=1'0"
(UV RESISTANT UHMW )

—

3-7/8"

J

£

7-1/4"

2"

FOUR REQ'D. 406E

|
lN\A
— N

TWO REQ'D. 406C

Scale NONE
(UV RESISTANT UHMW )

Scale 3"=1'0"
(UV RESISTANT UHMW )

HOLES | WELDS

FINISH: BARE

MATERIALI UV RESISTANT UHMW

A [01-28-13[ISSUED FOR APPROVAL

REVISION DATE DESCRIPTION

W riGHT A

ANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF'M-002
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.

BONNEVILLE DAM é
ADULT FISH FACILITY 406




I

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

1

195 i 12

15%% i

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
] ]
2 2%

1/27% . 7/8 -

e oY, —

1t h ,
N Al L /2
Y %j‘_i L

TWO REQ'D. 407A

Bt o h
=
1

FOUR REQ'D. 407B

Scale4"=1'0"
(UV RESISTANT UHMW )

Scale 3" =1'0"
( UV RESISTANT UHMW )

HOLES

| WELDS

FINISH:

BARE

MATERIAL|

UV RESISTANT UHMW

A

01-28-13

ISSUED FOR APPROVAL

REVISION

DATE

DESCRIPTION

WRIGHT

A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: OBSERVATION BOXES |REF' M-002

PROJECT:

ADULT FISH FACILITY

JOB NO. XXX-13 [DRAWING NO. REV NO.

BONNEVILLE DAM 407 C




CONTRACTOR VERIFY

711"

3"
1' Oll 9" 1/4 typ.
} 9/ w _
/16 _ 3"
SECTION "A"
BILL OF MATERIAL
Mark | Qty. Description Feet|Inches| Remarks
501A
a 3 C6x8.2 7 110-1/4| 13/16" holes
b 6 PL 3/8x3 1 0 15/16" holes
501B
c 3 PL 1/2x3 1 0 13/16" holes
501C
d 4 PL1/4 x3 1 0 13/16" holes

(10) SPACES @ 3-1/2"

THREE REQ'D. 501A

Scale 1-1/2"=1'0"

3"

1 I_OII 9"

THREE REQ'D. 501B

Scale 1-1/2" =1' 0"

3"

d
1 |_Ou 9u //_

FOUR REQ'D. 501C

HOLES | WELDS

FINISH: BARE (paint by others)

MATERALIMILD STEEL, A-36

Scale 1-1/2"=1'0"

A [01-28-13[ISSUED FOR APPROVAL

REVISION DATE DESCRIPTION

W riGHT A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689 FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: p|PE SUPPORTS |REF'M-002

PROJECT: JOB NO. XXX-13 [DRAWING NO. REV NO.

BONNEVILLE DAM 501 C

ADULT FISH FACILITY




63—

2" 11/2"

O
O

R?ll

Y+ b

THREE REQ'D. AS SHOWN
THREE REQ'D. OPP. HAND 502A
Scale 2-1/4" =1'0"

2y

L 1%--

BILL OF MATERIAL

Mark @ Qty. Description Feet |Inches| Remarks
502A
a 12 PL 1/2 x 2-1/4 13/16" holes
b 6 PL1/4x7 13/16" holes
f-bolt| 12 3/4" S.S. hex bolt 0 | 1-3/4 w/nut
f-bolt| 12 | 3/4"S.S.hexbolt | 0 | 3-1/4 w/nut

HOLES

| WELDS

FINISH: BARE (paint by others)

MATERALIMILD STEEL, A-36

A [01-28-13

ISSUED FOR APPROVAL

REVISION

DATE

DESCRIPTION

WRIGHT

A

MANUFACTURING, LLC
7474 S.E. Johnson Creek Blvd. Portland, OR 97206
PH. 503-774-9689

FAX 503-774-9691

DETAILER: SCOTT WHITE [CONTRACTOR: CLOUD

'TEM: p|PE SUPPORTS |REF'M-002
PROJECT: JOB NO. XXX-13 _|DRAWING NO. REV NO.

BONNEVILLE DAM
ADULT FISH FACILITY

502 /O\






